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Coding Decoding Questions for CGL Tier-1, NIFT
and SSC 10+2

Coding Decoding Quiz 8

Directions: In this type of questions, some particular words are assigned certain
substituted names. Then a question is asked that is to be answered in the
substituted code language.

1. If 'cook’ is called 'butler’, 'butler' is called 'manager’, 'manager’ is
called 'teacher’, 'teacher' is called 'clerk' and 'clerk’ is called 'principal’,
who will teach in the class ?

A. Cook B. Butler C. Manager D. Teacher E. Clerk

2. If 'black' means 'pink’, 'pink' means 'blue', "blue' means 'white’,
'white' means 'yellow’, 'yellow' means ‘red' and 'red" means 'brown’,
then what is colour of clear sky ?

A. Brown B. Red C. Blue D. Pink E. None of these

3. If 'oranges' are 'apples', 'bananas' are 'apricots', 'apples' are
‘chillies’, 'apricots' are 'oranges' and 'chillies' are 'bananas’, then
which of the following are green in colour ?

A. apricots B. apples C. chilies D. bananas E. oranges

4. If 'pen’ is 'table’, 'table’ is 'fan’, 'fan' is 'chair' and 'chair’ is 'roof’, on
which of the following will a person sit?

A. fan B. chair C. roof D. table E. pen

5. If 'rat’ is called 'dog’, 'dog' is called 'mongoose’, 'mongoose’ is called
'lion’, 'lion' is called 'snake’, and 'snake’ is called 'elephant’, which is
reared as pet ?

A. rat B. dog C. mongoose D. lion E. elephant



Correct Answers:

1 (2|3 |45
E (D D |C |C

Explanations:

1.

Clearly, a 'teacher' teaches in a class and as given, 'teacher’ is called 'clerk’. So, a
'clerk' will teach in the class.

Hence, the answer is E.
2.

The colour of clear of sky is 'blue’, But as given 'pink' means 'blue’, so the colour
of clear sky is 'pink'

Hence, option D is correct.
3.

'Chillies' are green in colour and as given, 'chillies' are 'bananas’. So, 'bananas' are
green in colour.

Hence, option D is correct.

a.

A person will sit on 'chair' but a 'chair' is called 'roof'. so, a person will sit on the
'roof'.

Hence, option Cis correct.
5.

Clearly, 'dog' is reared as pet. But 'dog' is called 'mongoose’. So, 'mongoose' is
reared as pet.

Hence, option Cis correct.
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